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PHILOSOPHY
PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

According to the Nyaya prama is

(A) correct cognition of previously
unknown object.

(B) correct smrti.

(C) correct presentative cognition of
a character of an object which
actually there is

(D) Samyak jnana

Accordingto Nyaya-VaiSesika, the relation
between mukt atma and sukhabhava is

(A) Samyoga
(B) Svariipa

(C) Samavaya
(D) None of the above

Match List — I with List — II and
select the correct answer code from

below :
List—1 List— 11
(Buddhist (Tenets)
Schools)

a. Vaibhashika 1i. External objects
are known by
inference.

b. Madhyamika ii. External objects
are directly
perceived.

c. Yogachara  iii. The knower, the
known and the
knowledge are
mutually
dependent.

d. Sautrantika  iv. Things in the
external  world
are actual states
of cognition.

Codes :

a b c d

(A) i 1 iv i

B) i il i v

(C) i i iv i

(D) i i 1 v
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4.

The process of arriving at universal
propositions from the particular facts
of experience is called

(A) Mental construction

(B) Simple causation

(C) Inductive generalisation

(D) Formal proof of validity

Which one of the statements in the

following does not reflect the true

Gandhian perspective of thought ?

(A) Non-violence is an active
moral struggle against evil.

(B) Hate the sin and not the sinner.

(C) Punishment must be retributive
in nature.

(D) Violence is not always wrong.

Match List — I with List — II and
select the correct code as given :
List— I List— 11
(Religion) (Aspiring Process)
a. Buddhism i.  Gunasthanek

b. Islam ii. Namasmarana
c. Sikhism iii. Astangmarga
d. Jainism 1v. Praying five times
a day
Codes :
a b ¢ d

(A) i i v il

B) 1 il i v

(C) iii v il i

(D) v i 1 i

‘Sarvadharma Sambhava’, according

to Gandhi means

(A) All religions
synthesised.

(B) All religions teach moral values.

(C) All religions are to be treated
equally.

(D) There is the wunity of all
religions.

should be
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10.

11.

12.

Match List — I with List — II and
select the correct code as given :

List—1 List—11
Religion Scripture
a. Zoroastrianism 1. Granth Saheb
b. Judaism 1. Avesta
c. Sikhism iii. Tripitakas
d. Buddhism iv. Talmud
Codes :

a b c d
(A) 1 iv il il
(B) ii i iv il
(C) i 1 iv i
(D) i v 1 i
Which of the following theories
holds that a true proposition
describes an actual state-of-affairs ?
(A) Coherence Theory
(B) Pragmatic Theory
(C) Phenomenological Theory
(D) Correspondence Theory

Match List — I with List — II and
select correct answer by using codes
given below :

List—1 List— 11
a. Ramanuja i. Anirvacaniya
Khyativada
b. Bouddha ii. Anyatha
Vijnanavada Khyativada
c. Nyaya iii. Atma
Khyativada
d. Advaita iv. Satkhyativada
Vedanta
Codes :

a b c d
(A) i IV V§ S \Y
B) v i i i
G 1 i i iv
(D) i 1 v i
Who holds that the conditions of
cognitions are not the conditions of
their validity ?
(A) Svatahpramanyavadins
(B) Paratahpramanyavadins
(C) Both (A) & (B)
(D) Neither (A) nor (B)

Who among the following is not
abhihitanvayavadin ?

(A) Gautama (B) Prabhakara
(C) Murari Misra (D) Kumarila
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13.

14.

15.

16.

17.

18.

19.

Nirvikalpaka jnana, according to the

Nyaya, is B

(A) Non-expressible and atindriya

(B) First stage of pratyaksa and
expressible

(C) Expressible and can be known
by anumana

(D) None of the above

‘Laukika Sannikarsha’ accepted by

Naiyayikas are :

(A) Samyoga, Samavaya,
Sanyukta-Samavaya

(B) Samavaya, Sanyukta-
Samaveta-Samavaya

(C) Samaveta, Samavaya,
Visheshan-Visheshya-bhava

(D) All the above

Which one among the following is

the vitiating condition for establishing

vyapti according to Nyaya ?

(A) Upadhi

(B) Asat Pratipaksha

(C) Viruddha

(D) Badhita

Pratibhasika satta, Vyavaharika satta
and Paramarthika satta, all refers to
(A) One reality

(B) Two realities

(C) Three realities

(D) No reality at all

What type of Karana of the world
God is, according to the Vaisesikas ?
(A) Samavayikarana

(B) Sahakarikarana

(C) Asamavayikarana

(D) Nimittakarana

Which one of the following represents
correctly similar nityadravyas ?

(A) Manas, atman, akasa

(B) Paramanu, akasa, kala

(C) Akasa, kala, atman

(D) Manas, kala, atman

According to  the  Naiyayikas
destruction of what type of cause is
the cause of the destruction of the
effect ?

(A) Samavayikarana

(B) Asamavayikarana

(C) Nimittakarana

(D) None of the above

J-03-13



8. Tl — I & gl — II & @ gaferd &
3R A 152 el | el ST B =95
= - | = - 1
an =
a. IR gy i. vy arfes
b. JEaET gH ii. smaw
c. T o9 iii. By
d. stg ug iv. dreTTE
%
a b c d
(A) i iv i i
B) i 1 v il
(C) i i iv i
(D) i iv i il
9. frfofea & @ fFw fagra & AT &
o Teh T A ardiosh aeg-reard
T U Al & 2
(A) o g
(B) SUATamEmT fasr
(C) Tgraart fagr
(D) Har T
10. It — I & gat — 11 & 91 gofed &
3T T 5 il T e TR T T
it - | =t - 11
a. NS i. AfEeAE Enfdas
b. dig fagmarg ii. 3w wfaars
c. =& iii. STT-=ATa
d. FEAARFT v, T Sfaas
o
a b c d
(A i i il v
B) iv i i i
(C) i i i iv
(D) i i iv i
11. TFaes AT € fob ST St 919 o b
TTaRe &l il 2
(A) EEHHUGEE
(B) Ra:NMOZEG!
(€) (A) 3R (B) FHi
(D) T (A)IRTE(B)
12. frefofed # 9 9 sufedraremt 7& & 2
(A) Tiaw (B) W9
(C) o o (D) et
J-03-13

13.

14.

15.

16.

17.

18.

19.
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20.

21.

22.

23.

24.

What type of samanya, gunatva is ?
(A) Parasamanya

(B) Aparasamanya

(C) Parapara samanya

(D) Akhandopadhi

Match List — I with List — II and
choose the correct answer from the
code given below :

List—1 List— 11
a. Ramanujacarya i. Chit, Achit,
Ishwara
b. Madhvacarya ii. Pre-samkara
Vedanta
c. Yoga-Vasistha 1iii. Savise$a
Brahmavada
d. Vivartavada iv. Advaita
Vedanta
Codes :
a b c d
(A) i i i v
M) 1 i iv il
©) i i i iv
D) i iv il i

Consider List — I & List — II and
select the code given below which is
correctly matched :

List—1 List—11
a. Samkara i. Dvaitavada
b. Ramanuja ii. Advaitavada
c. Nimbarka iii. Visistadvaitavada

d. Madhva iv. Dvaitadvaitavada
Codes :

a b c d
(A) i i iv

(B) i v il

©) 1 i v

D)y 1 i i iv

The function in terms of which all
the constants of truth-functional
system can be defined, is called

(A) Strawson’s stroke function

(B) Russell’s stroke function

(C) Sheaffer’s stroke function

(D) Whitehead’s stroke function

Which one of the following is a
fundamental law of thought ?

(A) Law of Reasoning

(B) Law of Excluded Middle

(C) Law of Compatibility

(D) Law of Double Negation

e
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25.

26.

217.

28.

29.

30.

Match List — I with List — II and select
the correct answer from given code :

List— 1| List-11
a. (p>q).(r>s)/ 1. De M.
SL—-pv-r—qVv
-
b. «(p.q)/—pv—q 1. Disjunctive
syllogism

c.pvq/..q-p iii. Transportation
d. (p=q)/ ..(~.q=>—p) 1v. Destructive
Dilemma

Codes :

a b c d
(A) iv i i iii
B) i mooiv il
©) v 1 i i
(D) v i i
Select the correct option from given
below :

(3x) [Kx. (y) (Ly = My)]

() Kx = [(y) (Ny . My) = Ox]
< (Jy) (Ny . Ly) = (3x)

1

(Z) Valid (B) Invalid
(C) True (D) False

In the proposition ‘Very few men are

honest’

(A) only subject term is distributed.

(B) only predicate term is distributed.

(C) both the subject term and
predicate term is distributed.

(D) neither of the terms is distributed.

In the traditional square of opposition
if ‘I’ proposition is false, which one
of the following can be determined ?
(A) A, E and O are undetermined.
(B) A, E and O are false.
(C) Aistrue, Eis true and O is false.
(D) A is false, E is true and O is
true.

Which one of the following is the
equivalent of ~p>q?

(A) p>~q (B) qvp

(€ a>~p (D) ~q>~p
PaLpva,p>qand ‘p=q’are
all true only when

(A) pistrue and q is false.

(B) pis false and q is true.

(C) pand q are both false.

(D) pand q are both true.
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20.

21.

22.

23.

24.
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J-03-13

25.

26.
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28.

29.

30.
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(C) p R qIF WAE |
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31. When two propositions about the
same subject-matter cannot both be
true together; they are
(A) contradictories

(B) contraries

(C) either contraries or contradictories
(D) Dboth contraries and contradictories

32. Which one of the following is a
propositional function ?
(A) All cows are white or all cows

are black.

(B) If Socrates is a man, then he is

mortal.

(C) xis pretty.

(D) For any X, if X is a man, then X

is rational.

33.  When one mistakes one kind of facts
with some other kind, one commits a
(A) hypothetical mistake
(B) legal mistake
(C) moral mistake
(D) categorical mistake

34. According to ‘representationalism’, a
belief accounts for knowledge
(A) only ifitis a false belief.
(B) only ifitis a true belief.
(C) only if it is indifferent to truth

and falsity.

(D) only if it does not picture reality.
35. G.E. Moore is an ethical

(A) Cognitivist

(B) Non-cognitivist
(C) Descriptivist
(D) Non-descriptivist

36. Match List — I with List — II and
select the correct answer from the
code given below :

List -1

List—11

a. Antinomy 1. The world is either

of quality

b. Antinomy 1ii.

of
quantity

c. Antinomy iii.

of
modality

d. Antinomy 1iv.

of
relation

Codes :
a b
(A) iii v
(B) iv i
) i i
(D) i i
Paper-I111

finite or infinite.
Matter is either
indivisible or
infinitely divisible.
The world must
have a cause or no
cause.

All changes and
conditions pre-
suppose something
that does not
change and s

unconditioned.
c d
i il
ii i
i iv
iv il

37.

38.

39.

40.

41.

42.

Which of the followings are true for

Kant ?

(A) Knowledge of the phenomena
alone is possible.

(B) Noumena remains unknown
and unknowable.

(C) Phenomena remains unknown
and unknowable.

(D) Knowledge of noumena alone
is possible.

Kant’s Conception of the ‘Kingdom
of ends’ approximates to the Gita’s
Conception of

(A) Asceticism

(B) Solidarity of humanity

(C) Humanism

(D) Atheism

Ontological Dualism is a theory

which helds

(A) mind and body are different
entities acting together.

(B) mind and matter are
independent of each other.

(C) there are two ultimate realities
which acts together in coherent
manner.

(D) there are two ultimate realities
independent of each other.

According to Nyaya system vyatireka

vyapti between hetu and sadhya

obtains when

(A) All cases of hetu are cases of
absence of sadhya.

(B) Some cases of hetu are cases of

sadhya.
(C) Some cases of sadhya are cases
of hetu.

(D) All cases of absence of sadhya
are cases of absence of hetu.

W.V.O. Quine is an ontological
relativist because he believes in

(A) inscrutability of reference

(B) picture theory of meaning

(C) forms of life

(D) family resemblances

True knowledge according to
J. Krishnamurti is

(A) revealed by mystics

(B) conditioned by experience

(C) obtained by religious reflection

(D) unconditional awareness
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36.
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(D) S e 9 i AT Fél et & |

Sft. 3. X AfdE

(A) wmaﬁr%n

— 1 = g&r — 11 % | gofe
gﬁﬁ%ﬁﬁﬁ@aﬁgwwﬁ
1
a. Ema?nw i faw 7 a G @
famfaty T T |
ii. WZITH}GZI%IW.?JT
T ETH famsT € |
1111%IWETWUT‘@'HT
maﬁéwqﬁ%
TRET

b. HAET 1
c. ¥l

d. TR H v, TAH
formricer

a b c d
(A) iii v i i
B) iv i il i
(C) i i i iv
(D) i i iv il

37.

38.

39.

40.

41.

42.

i % ford Frferfiad & 4 A T AT &2

(A) HeeT TU=EYd 1 T & 99e € |

(B) TRET 3T AT 3T T @A € |

(C) TYaITT ST AT 37T 1 ell ¢ |

(D) R & A& TG

HE B TRAT F AT BN STTEIRON

T @ FEfcfad & 9§ S 9 EEron

% ORI FHE € 2

(A) Tu=

(B) WGl i Tl

(C) HAHEaR

(D) FHvERaR

T §AdTE U (G & S O ©

&

(A) TF T IR UH G HE A
et f T € 1

(B) T T U5TH TH W H WA ¢ |

(C) T WA TN & S HEH 9 H
TS HE HA © |

(D) TH T Y &= 3 I T E |

= HYRE % R ¥ 3R W %

drer AfeR-aaia oe T Bt € ST

(A) & % wa fefqa we =t
sFurefa i ferfat € |

(B) &q  $© faar areg =t fefaat
T

(C) =" o P feafat &g =f fefaat
g1

(D) | i U B gt et
& I U i ferfaar & |

S . 311, FE T adedl ¢

Hifeh of FrefarEd H JmFd €

(A) T DT TR

(B) 7 o faxt fag=

(C) Sied & &9

(D) WIRETRe STTET

. FOEA & AR, §F A
frfafga  F = 8 2

(A) TSI §RT Uhe

(B) 3T ERT STFHieq

(C) «taek fod= gRT e

(D) 3mfdery STTEehar
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43.

44,

45.

46.

47.

48.

The problem of intentionality is that

of understanding the relation between

(A) a mental state and
corresponding physical state

(B) different mental states

(C) mental state and the thing it is
about

(D) different bodily states

Heideger characterises

terms of

(A) affective isolation of Being

(B) Being-in-itself

(C) Being-for-itself

(D) affecting relationship  with
surrounding people and objects

Dasein in

“What kind of world we perceive and
experience depends upon what kind
of beings we are.” This is the
conclusion of
(A) Kant

(C) Auristotle

(B) Descartes
(D) Spinoza

Truth of reason is justified by

(A) Law of contradiction and
principles of sufficient reason

(B) Principles of sufficient reason
alone

(C) Law of contradiction alone

(D) Laws of intuitive imagination

Within a
propositions
(A) All propositions can be proved
and all terms can be defined.
(B) Not all propositions can be
proved but all terms can be

scientific system of

defined.

(C) All propositions can be proved
but not all terms can be
defined.

(D) Not all propositions can be
proved and not all terms can be
defined.

Human Right presupposed

(A) Dignity of human being

(B) Proper living condition of a
human being in a particular set-
up

(C) Rights of human being in a
particular society

(D) Universal Rights of human
being in a particular society
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49.

50.

51.

52.

53.

54,

Which one of the options of the
followings correctly matches with
moral obligation ?

(A) Physical compulsion

(B) Self-imposition

(C) External authority

(D) None of these

According to Kant, moral duty is
(A) A command of God

(B) Given by one’s intuition

(C) The imperative of pure reason
(D) Determined by morality

“We have no right to commit suicide
because our life is a joint property of
our own and others.” This sentence
falls under the domain of

(A) our duty towards our society
(B) our duty towards our family

(C) our duty towards ourselves

(D) our duty towards all of these

Which one of the following

statements is an incorrect statement ?

(A) J.S. Mill does not offer a
reasonable  explanation  of
moral obligation.

(B) Sidgwick is a hedonist in his
view of the highest good.

(C) Moral judgement depends upon
moral sentiments.

(D) According to Aesthetic-Sense-
Theory, Beauty is the Ultimate
Standard of morality.

Which one of the following provides
the metaphysical ground of morality ?
(A) Cardinal Virtue

(B) Freedom and Responsibility
(C) Immortality of Soul

(D) Growth of Character

Match List — I with List — II and find
correct answer from the given code :

List—1 List— 11
a. Rigorism i. Moore
b. Emotivism ii. Kant
c. Intuitionism iii. Butler
d. Utilitarianism iv. Ayer

Codes :
a b C d
(A) i i i v
B) i iv 1 i
(C) i iv i i
(D) i iv il il
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43.

44,

45.

46.

47.

48.

M o gEe Fefafed & &

TS T qHEH

(A) AN ST T FHa IR
3T |

(B) = AMfaes stawmt

(C) WM Tew 3K aF owg e
I T § |

(D) = IR Taemy

ECU B e D B e B P

ffefaq sh & fomar &

(A)

(B) 310 319 H Tl

(C) 1o ford e

(D) 3THUNT % AN 31T &3t & |1
T G

“zq T YR o ST ol U4l 1Y T
3T I & I 39 W Y el € TR
%ﬂ(w)fawwé?% P g ferge

fe=py € 2

(A) FHT (B) <&

(C) & (D) ST
gﬁ?ﬁwﬁmfaf@mé?mmﬁﬁ

(A) Tty =1 999 T g3t HRT &

(B) oot qAT HROT o g

(C) oot foriy & f7om

(D) 3IA:VRICHSE e & e

el & Tl St i

(A) @ ATl fopam =
T & 3T et U=T St ST
T Hehell & |

(B) wﬁaﬁaﬁaﬁaﬁwﬁrﬁqﬁm
ST Wehl, W] T TR AT
T ST Fehell & |

(C) Hﬂﬂﬂéﬂﬁ@aﬁwﬁm%ﬁmw

Tl &, W] T URT T e

T B ST T ¥ |

wﬁaﬁaﬁaﬁaﬁwﬁmqﬁm

ST Gehell & 31 9t UsT i SAre

TEl ol T Hehell & |

AAAMHR Ffared § § e 79 &

oI § 2

(A) THE H TRET .

(B) HMd @i U fovm uRkfefd § &

(C) TS 99 GHNT | 7T & AHR
(D)

(D)
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49.

50.

51.

52.

53.

54.

Afcieh T o T HEfarEd J 9 i
1 fereheg Fferd el & ?

(A) IR AFam

(B) &-3TRIIOT

(C) aTeT MreehRy .

(D) SH | W Hig Tél

Hie F AR AT FHeT H ey

ffetE €

(A) TUTHIS =1 3T

(B) 3O STA:URT gRT U

(C) = T I

(D) i

“BH MCH-BcAT T o HIT UHR el

mm St gmﬁ o 3T
o T 17 — T8 9

|4H|ﬂ|@da§§l*ﬁ% fﬁqﬁ Yedl % ?

(A) TER 9UST & U SART T

(B) &R URAR & U AR Hcied

(C) AR 379 Ui ART eied

(D) 37 Tk Uid g9RT e

e 5 & s a1 e T € 2

(A) S T¥. T e S o fgasmyo]
TLIHOT T IR el & |

(B) ﬁaﬁwmﬂﬂw%aﬁﬁm
o o qEamRl & |

(C) e Ui fcep Wiarrell W IR T |

(D) aﬁ?ﬂ?&ﬂiﬁ-aﬁfﬁm%
SN, <Xdl Aldendl hl ITH
TWE |

ATCTehaT T TG STTER F=fara
T T HH UG AT 8 2

(A) 3TEIT TTOT -

(B) &A=l T STRIME

(C) 3TcAT St 3THT

(D) aRF F fawg
gt — [ 1 gEt — 11 & 91 Gaferd &l
3T A A ot & W I B T W
=i - | =t -
a. FIRATAR i ™
b. FaTaTs ii. Fe
c. AUTER iii. S
d. SyAfTamETs iv. TR
H

a b c d
(A) i i il v
(B) i iv i i
(C) i iv il i
D) i iv il i
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55.

56.

S7.

58.

59.

Match List — I with List — IT and mark
correct answer from given code :

List—1 List—11
a. Selfis Real 1. Justice
b. Respect for ii. Postulate of
World Morality
Harmony

c. Cardinal Virtue iii. Duty
d. Retributive iv. Punishment

Theory
Codes :

a b c d

(A) i v 1 i
B) i i v i
((©) N T 11 H | B %
(D) i i 1 v
Emotivism upholds that ethical
statements do not express
(A) truths or falsehoods
(B) ontological states
(C) rational states
(D) effective states

‘Naturalistic fallacy’ is

(A) the outcome of naturalism

(B) the outcome of naturalised
epistemology

(C) the outcome of
theology

(D) the outcome of identifying an
ethical concept with natural
concept

natural

Nominalism is a theory which says
(A) that universals are not real but
are only names or words.

(B) the universals are not names.

(C) that universals are established
on reason.

(D) that universals are concepts.

Which one of the following is not a

statement of value ?

(A) Honesty is the best policy.

(B) We believe honesty to be the
best policy.

(C) Never indulge in dishonesty.

(D) Let us all be honest.
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60.

61.

62.

63.

64.

65.

Which one of the following is not a
synthetic ~a  priori  judgement,
according to Kant ?

(A) All bodies have weight.

(B) All bodies have specific
gravity.
(C) 9+7=16

(D) Every change has a cause.

For Descartes the proposition ‘I
think’ is self verifying because

(A) itis anecessary truth.
(B) itis alogical truth.

(C) doubting it confirms it.
(D) thinking is my essence.

Svadharma is advocated by

(A) Krishna
(B) Ravana
(C) Sita

(D) All the above

Which one of the following is known
as Triratna ?

(A) Shravana, Manana,
Nididhyasana

(B) Darshan, Jnana, Charitra

(C) Maitri, Kamna, Mudita

(D) Sarhgha, Dhamma, Buddha

Rta of the Vedic world was closer to

(A) Legal order
(B) Truth

(C) Karma

(D) Social order

Karma in Mahabharata, was more
concerned with
(A) Deva-rpa

(B) Pitri-rna
(C) Mitra-rna
(D) Bhuta-rna
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55.

56.

S7.

58.

59.

gar — [ gt — 11 % 91 gafed &
3R A 152 el | el ST B =95
e - | = - 11
a. 37T & I 1. A
e |
b. SfYee TR
% fo T AT
c. SR 0T iii. T
d. uiqert fas=  iv. 3%

T

(=N

ii. AAfdehar =t

a b C d
(A) i iv i il
(B) iii i iv i
(C) i i i v
D) i i i v
HagAEE AEAT § % Afae e
fAfafaa feafa =i =aed T&f i @
(A) T AT T
(B) Wt
(C) ifgen/faaeygot
(D) wRyTEt

“TRTaTaT A=t &

(A) YUHER H IR

(B) wW@nifoss fag  FeHmEr
o

(C) WTehieh SHEEET T gRoms

(D) WPl STTERON & @ ATdH
TR hl TET H T TR0

TS U 5T & ST el &

(A) 9= aRdfas T@l & g
el T T IS ¢ |

(B) EMM IW &I |

(C) ‘TR % FRT TMd € |

(D) “THT STTEROME € |

feAfefEd o % o1 FoF Joawe Ha

TwE?

(A) TAFERI g Hifd € |

(B) &9 SHFSRI i & Aifd AF & |

(C) =il Se T Y |

(D) T3l g9 Tl SAFRR o |
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60.

61.

62.

63.

64.

65.

He & IR, H=fciad § & S @
TRTTE HYAToTeRs ot &t & 2
(A) T &I T o BT € |

(B) |t axgail = Hived Tocd BT & |
C) 9+7=16

(D) Yl GREdH T HROT BT € |

I % ford, H Frear € @y §
ERIIED

(A) T8 TF A\ T T |

(B) ¥ U dlichh T & |

(C) 3T W TIE HAT 3T I ¢ |
(D) WM AT ARE |

Tered 1 T B AT ¥ 7
(A) Fom

(B) Y

(C) &

(D) S Tf

frfefad & 9 ford Rt et ST & 2
(A) &, 79, FHigeraa

(B) ¥, I, A

(C) BT, BT, gieen

(D) ¥, 99, I5

ek S 1 Sl Toheeh THiT & 2
(A) fofues e

(B) T

(C) =H

(D) WMISTH 3T

TR ° Y, Fefeiad § 9 foaes
1Y SATET TN T & 2

(A) Ta-H0
(B) fog-or
(C) T=-=01
(D) -0
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66.

67.

68.

69.

70.

Which one of the following sets, in
the context of ashrama dharma, is not

matching ?

(A) Gandhi — Brahmacharya and
Grihastha

(B) Samkara — Brahmacharya and
Sanyas

(C) Yajnavalkya — Grihastha and
Sanyas

(D) Vivekananda — Brahmacharya
and Grihastha

Brahmaviharas include the following
(A) Maitri, Karuna, Vinaya,

Upeksa
(B) Maitri, Karuna,, Mudita,

Upeksa
(C) Vinaya, Karuna, Mudita,

Upeksa
(D) Maitri, Mudita, Upeksa,

Vinaya

The system which holds the view that
scripture is stronger than perception
is

(A) Jaina

(B) Bauddha

(C) Advaita Vedanta

(D) Nyaya

According to Nyaya, we perceive
Samavaya by the sense-object
contact known as

(A) Samavaya

(B) Samaveta samavaya

(C) Visesanata

(D) Samyoga

The definition of pratyaksa
‘Pratyaksaim kalpanapodam
abhrantam’ is given by

(A) Vasubandhu

(B) Kamala$ila

(C) Dinnaga

(D) Dharmakirti

71.

72.

73.

74.

75.
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Paksadharmata is a relation between

(A) Hetu and Sadhya
(B) Paksa and Sadhya

(C) Paksa and Hetu
(D) None of the above

What type of sannikarsa takes place
during the perception of ripatva
according to Nyaya Philosophy ?

(A) Samavaya

(B) Samyukta-samaveta-samavaya
(C) Samaveta-samavaya
(D) Visesanata

In Kantian ethics ‘an objective
principle of action’ is called

(A) amaxim

(B) arule

(C) apractical law

(D) an imperative

The definition which proceeds by
simply showing what is intended is
called

(A) norms definition

(B) wide definition

(C) extensive definition

(D) ostensive definition

According to Spinoza, an ‘attribute’

is that

(A) which the intellect perceives as
constituting the essence of a
substance.

(B) which the intellect perceives as
constituting  the accidental
property of a substance.

(C) which the intellect perceives as
constituting the rational
property of a substance.

(D) which the intellect perceives as
the spiritual property of a
substance.
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66.

67.

68.

69.

70.

My g9 &% Gg ¥ FEfaiad °§ d i
1 T gaferd el & 2

(A) T - SETEE SR e

(B) ¥ - SRTEH SR =

(C) TTSTaeHT - o 3R T
(D) faasET - sEEE 3R T

srIferR frfefad w5 afmfea fare
(A) T, FHoom, foma, SueT

(B) B, FHEOT, Giedr, SURT

(C) faa, wom, gisar, 3ueT
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HT T TREE GHTY B TRty
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(B) g

(C) 3%5d g

(D) ==
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g A e, e wed €

(A) THIA

(B) THAd THE
(C) faermorar
(D) @&

TcgeT i TITHT “WealeT ShouTags
Y’ o & H e & & ?
(A) =gy

(B) HHTIIeT

(C) fer=mr

(D) I

71.

72.

73.

74.

75.
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T € 9

(A) o] 3R are

(B) Ut 3 e
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(D) W | ¥ HIE &l

=g T % 3TER, €I % IFEY &

SR T TR 1 [Ty i1 € 2
(A) FHIT

(B) EIF — GHAT — GHA™T

(C) T9ad gHa™

(D) fererooran

Hicamsl Afdeh 9 T FohaT 1 TR
g FEeTar €

(A) =

(B) frm

(C) =R Haq

(D) @MW

FHIA FIISH FdAT FL AT g arell
GRS S AT & 2

(A) HFE TRET
(B) =T iRATw
(C) Taga uimen
(D) VRIS qIHTeT

RIS % TER, 0T 9 2l § o

(A) Ffg T F IR B T B
TEA T |

(B) dfg TSI & SRS TUTEH i
TIAT A A T |

(C) Jfg uaed & siifceh o St T
A TG ¢ |

(D) dfE U=t & SreATce o &
w7 H T
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